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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 456 56.82 | =S | 0.00 ~ 0.00| 1.58 843 st 1.00 | 6.00 ~ 5.00 56.82 | =h4 | 5.00 ~ 56.00| 1.58 843
2 100kN/m%E#BZ25| 1.00 000 ~ 126 119.03 |3mEEZS -~ - - -] 100kN/mZ#8z5 | 1.00 | 10.78 ~ 1528 119.03 |3mZ#Bz25 -~
s 1.00 | 1.26 ~ 9.04 100.00 | #nlst | 0.00 ~ 9.04 | 2.26 1211 st 1.00 | 6.00 ~ 10.78 100.00 | =nst | 6.00 ~ 1528 2.26 1211
3 100kN/m%E#Bz5| 1.00 | 000 ~ 303| 14817 |3m&EBZ3| 000 ~ 0.04]| 3.02 16.16 | 100kN/miZ#825 | 1.00 | 1054 ~ 2749 14817 |3m&ERBZB| 25,00 ~ 27.49| 3.02 16.16
s 1.00 | 303 ~ 1081 100.00 | =nst | 004 ~ 1081 3.00 16.06 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
4 100kN/m%E#BZ5| 1.00 | 000 ~ 307| 14898 |3mEBZ5| 000 ~ 0.14| 3.08 16.47 | 100kN/m#%#825% | 1.00 | 1054 ~ 2692 14898 |3m&EBZB| 2500 ~ 2692 3.08 16.47
s 1.00 | 307 ~ 1086 100.00 | =nist | 014 ~ 1086) 3.00 16.05 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
5 100kN/m%E#BZ5| 1.00| 000 ~ 286 14520 |3mEBZD -~ - - -] 100kN/ %825 | 1.00 | 10.71 ~ 2853 14520 |3m%E#BZ% -~
s 1.00 | 286 ~ 1064 100.00 | =nhst | 000 ~ 1064 293 15.66 st 1.00 | .00 ~ 1071 100.00 | =nst | 6.00 ~ 2853| 2.93 15.66
P 100kN/mM##BZ5 | 1.00 | 000 ~ 284 144.88 |3m%E#Bx 5| 000 ~ 004 | 3.02 16.16 | 100kN/miZ#825 | 1.00 | 1054 ~ 2503| 144.88 |3m&ERBZB| 25,00 ~ 25.03| 3.02 16.16
s 1.00 | 284 ~ 1062 100.00 | =nist | 004 ~ 1062] 3.00 16.05 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
- 100kN/mM#E#BZ5 | 1.00 | 000 ~ 310 149.43 |3m%E#BZB| 000 ~ 0.15| 5.08 16.48 | 100kN/miZ#825 | 1.00 | 1054 ~ 2724 14943 |3m&ERBZB| 25,00 ~ 27.24| 3.08 16.48
s 1.00 | 310 ~ 1089 100.00 | =nhst | 015 ~ 1089 3.00 16.06 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
P 100kN/m##Bx5 | 1.00 | 0.00 ~ 291 146.16 |3m%E#BZ5 -~ - - -] 100kN/ %8825 | 1.00 | 1064 ~ 2810 146.16 |3m%E#BzZ% -~
s 100|291 ~ 1w 100.00 | #nlst | 0.00 ~ 1070 2.95 156.81 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 2810| 2.95 15.81
9 100kN/mi%E#82%5 | 1.00 | 000 ~ 274 143.23 |3m%E#BZ 5 -~ - - -] 100kN/ %8825 | 1.00 | 1086 ~ 2895 14323 |3m%EiBz% -~
s 1.00 | 274 ~ 1052 100.00 | =nhst | 000 ~ 10852| 2.89 15.45 st 1.00 | 6.00 ~ 1086 100.00 | =nst | 6.00 ~ 2895| 2.89 15.45
10 100kN/m%EBZ5 | 1.00| 000 ~ 268 14215 |3mEBZD -~ - - -] 100kN/ %825 | 1.00 | 1082 ~ 2716 14215 |3m%EiBz% -~
s 1.00 | 268 ~ 1046 100.00 | #=nst | 0.00 ~ 1046 | 2.90 15.50 st 1.00 | 6.00 ~ 1082 100.00 | =nst | 6.00 ~ 2716 2.90 15.50
11 100kN/m##8%% | 1.00 | 000 ~ 268| 14224 |3m%xBZ% -~ - - -] 100kN/ %825 | 1.00 | 1059 ~ 2420 14224 |3m%E#BZ% -~
s 1.00 | 268 ~ 1047 100.00 | =nst | 0oo ~ 1047 2.64 14.156 st 1.00 | 6.00 ~ 10.59 100.00 | F=nSy | 6,00 ~ 2420 2.64 14.15
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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